Name
@ Addition Word Problems Score

WPA:04

1) The Bella’s eye care hospital on an average performs 4 laser surgeries and
12 cataract surgeries in a week. How many surgeries on an average are
performed in the hospital?

2) Rhone distributed his books across two shelves. He put 8 books on the
first shelf and 17 books on the second shelf. How many books in all does
Rhone have with him?

3) Clara's wedding bouquet is made of 6 white roses and 25 red roses.
How many roses were used for the bouquet altogether?

4) John composes a poem. The first paragraph has 7 lines and the second
paragraph has 14 lines. How many lines does John's poem have?
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Name
@ Addition Word Problems Score

Answer key WPA:04

1) The Bella’s eye care hospital on an average performs 4 laser surgeries and
12 cataract surgeries in a week. How many surgeries on an average are
performed in the hospital?

16 surgeries

2) Rhone distributed his books across two shelves. He put 8 books on the
first shelf and 17 books on the second shelf. How many books in all does
Rhone have with him?

25 books

3) Clara's wedding bouquet is made of 6 white roses and 25 red roses.
How many roses were used for the bouquet altogether?

31 roses

4) John composes a poem. The first paragraph has 7 lines and the second
paragraph has 14 lines. How many lines does John's poem have?

21 lines
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